(10 marks) If 2700 cm? of material is available to make & bax with square base and an
. apen top, find the largest possible volume of the box.

|
2} (10 marks) A piece of wire 12m long ia cut into two pieces. One piece is bent into a
square and the other is bent into a circle. How should the wire be cut so that the total
area enclosed is (a) & maximum (b) a minimum

(10 marks) Two radio towers, nf beight 172m and 200m, are placed 100m apart. We
wish to secure the two towers with a single cable connecting the top of each tower to
& point on the ground between them. Where should the cable be placed to minimize
the length of the cable? ™.
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